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I. ANSWER ALL QUESTION

1) 1 8 3 8§ —6 —4 5 3 0
IfA=1]13 5 0|,B=|2 11 -3|,C=|—-1 -7 2| compute the following
|8 7 6 0 1 5 1 4 3
3A+2B-C
2) 4 3 1 2 3 4 8 3 4
IfA=1]12 3 -8|,B=11 9 2 |andC=|1 -2 3 | thenverifythatA+ B+ C)=
|1 0 —4 -7 1 -1 2 4 -1

3)FinanninfX+Y={7 0} andX—Y=[3 O}
3 5 0 4

4) Findxandyifm[ 4 ] +y[_2} = {4}
-3 3 6

2 _ _
5) Solve for x, y : [a:2] —1—2[ 23:] = [ 5]
Y —y 8
6) 1 1
1 2
IfA=]1 -1 2],B=]2 1 |andC-= [2 1} show that (AB)C = A(BC)
X _
Nifa-= { 1 :ﬂ - { 14 ; ,C = {_7 g} verify that A(B + C) = AB + AC

2 -1
IfAz{1 21 1] andB—[l 4 | show that (AB)T = BTAT

Naiventhata= |5 3 [ =]t 1 2| c=| 1 3 2| yerify that AB + C) = AB + AC.
5 3 5 2 —4 1 3

10) Leta= |1 2| B=1|% 9. c=|? 9 Show that
1 3 1 2
A(BC) = (AB)C

1) ¢a = [a Z] and I = [(1) (1)} show that A? - (a + d) A = (bc - ad)l,
c

12) 5 2 9 LT
If A:{l ) 8],3: 1 2| verify that (AB)T=BTAT
—1

1
13) 1fa = { 31 2} show that A% - 5A + 71, = 0

4 a=|2 % 9 5o |7 3 81§04 the value of 3A - 9B
8 3 7 1 4 9

15)LetA=“ z},3=ﬁ g],c=[i g] Show that (A - B)C = AC - BC
16) Leta= | 2] B=|% % c=|% | Showthat (A-B)T=AT-BT
1 3 15 1 2

ALL THE BEST

L e o o o e e e

Reg.No. :

(A+B)+C.
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